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QUESTION 1

What is the semantic difference between the two figures in the exhibit? 

A. There is no semantic difference. 

B. One is a white-box view, while the other is a black-box view. 

C. One is a UML 2.0 diagram, while other is a UML 1.5 diagram. 

D. One is a deployment diagram, while the other is a class diagram. 

Correct Answer: A 

 

QUESTION 2

What does a choice pseudostate designate? 

A. a conditional fork pseudostate 

B. point with an associated Boolean condition 

C. point at which outgoing guards are evaluated 

D. point whose outgoing transitions are optional 

E. point that is chosen dynamically during execution 

Correct Answer: C 

 

QUESTION 3
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What is the meaning of a required extension? 

A. The extension must be applied at least once in a model. 

B. This extension has a higher priority than the other defined in the same profile. 

C. An instance of the extending stereotype must never be linked to an instance of the extended metaclass. 

D. An instance of the extending stereotype must always be linked to an instance of the extended metaclass. 

Correct Answer: D 

 

QUESTION 4

In the exhibit, if the incoming arrows provide one control value and two data values, what values are provided to the
outgoing arrows? 

A. the two data values 

B. a single control value 

C. both the control and two data values 

D. a single data value combining the original two data values 

Correct Answer: A 

 

QUESTION 5

What types of features may a component possess? 

A. attributes and operations 

B. attributes, but not operations 

C. operations, but not attributes 

D. neither attributes nor operations 

Correct Answer: A 
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